Some Rules of Thumb

M in Kg/mol, s in Svedbergs (10713 sec), D in Ficks (10~ "cm? sec™1),
R, in Angstroms, speed in rpm /1000, p=1.000 g/cc, 1=0.725 cc/g, T = 293° K.

Transport
M =915
Ry =215/Dsg

s=24M/R;

f/fo=031M?13/s (5, =0.3)

D <19.2/s%5

For the equivalent sphere For the random coil
01 =0.0 01 =0.0

R, =20/3M3 R, = 10.0M0-56
So=M3/28 Spe = 0.24M0-44

s0= M3 [(16.%%)3/7&]

M =478

R, = 7.35(M7v)3
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1 =0.

R, = 30/4M/3 Ry = 90/8M2
’ V532 S0 = 0.2117044

So = .

M =575

= 1.48M02?
R, = 735{M(’f) + 03)}1/3 SO/STC 3

For a prolate ellipsoid of revolution
where a/b > 5.0, f/f, = (a/b)*/3/In(2a/b)
For Ac/At analysis
7
At/t = ln(wzt) < m
D = (0w?trmen)? /2t (where o = std dev of g(s*) peak in svedbergs)

Sedimentation Equilibrium

For o > 2.0cm~=2 , where o = d(Inc)/d(r?/2) = M (1 — vp)w2/RT

teq50 = 40000/ (speed)? /520, hours (7 = 0.22) (column height=3mm)

teq,50 = 17000(Rg/M)/(speed)? hours (7 = 0.22) (column height=3mm)

tos/teqg = 0.134(0)0.58/((Wes/weq)? — 0.5)

For o > 0:

Compute time to equilibrium at any speed: http://rasmb.org/AUCRL/time_to_equilibrium-form.html
speedeq = 88[o/M]%5; M = T777[0/(speedey)?] and o = M (speed.q)? /TTT7

Walter Stafford — May 24, 2016


http://rasmb.org/AUCRL/time_to_equilibrium-form.html

